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1. Find the following for the function f(x) = 3x2 +3x-3.

(a) f(0) (b) (5) (c) f(=5)
(e) - (x) () f(x +2) (9) f(4x)

(a) f(0)= l (Simplify your answer.)

(b) f(5) =| | (Simplify your answer.)

(c)f(-5)= ] dl (Simplify your answer.)
(d) f(—x)= - _[ (Simplify your answer.)

(e) -fx) =/ | (Simplify your answer.)

(M f(x+2)= | (Simplify your answer.)

(9) f(4x) = [ B _] (Simplify your answer.)

(h) f(x +h) =] | (Simplify your answer.)

Answers -3
87
57
3x*-3x-3
-3x2 - 3x+3

3x% + 15x+ 15
2
48x~ +12x-3

3x2 +6hx + 3h2 + 3x + 3h - 3

ID: 1.1.43

(d) f(-x)

(h) f(x + h)
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V2. Find the domain of the function.

o) = «/4x -12
The domain is : (Type your answer in interval notation.)

Answer: [3,00)
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!/3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

20f 34

L (6) Find (f- g)(x). (S8 — (F<—3) -

(490 =

f(x)=5x+8; g(x)=8x-3

_ ‘) - SF = :
(a) Find (f+ g)(x). (S Y K/ + i/(/ 3 ) — \
(f+g)(x) = (Simplify your answer.) 5 ,( ~ Z — 57)( = - ;J
What is the domain of f + g? Select the correct choice below and, if necsssary fillin tq_e;,ahs 4
choice. g /3 X —1— S

(. A. The domain is {x }
(Use integers or fractions for any numbers in the expr‘assmn Use a comma to separate

answers as needed.) ( 7/ )‘/ 3(/

() B. The domain is {x| x is any real number}. /. ) -
| ) —— ¥ -

f-g)x)= (Simplify your answer.) S/)("f' 2/ — i )('——f—’f

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the ansuter,bo t complete youi/

choice. C "_2/(.'//( —_ \

A. The domain is {x }
(Use integers or fractions for any numbers in the expres’gjon Use a comma to separate

) answers ae r.leeded.) ( / ) /f ] 2 ,(‘;E ’%;M .]

() B. The domain is {x| x is any real number}. / ) ,.4)
(c) Find (f+ g)(x). ( %% ,c ({)(d’ /
(feg)(x) = (Simplify your answer.) L ‘k/ —f- X A G2 \/ ‘.//

CaG e ST —Cs

What is the domain of f« g? Select the correct choice below and, if nece_gary“f ilkin the answer bnx ta complete your choice.

A. The domain is {x ] } )‘\/) =

(Use integers or fractions for any numbers in the expressmn Use a comma to separate

answers as needed.) / /\ / ~ M ZZ‘( 5 =
,,}7-(-;7” = I—347 = J#3

(d) Find[ ](x) S \/3{*; ;o I = 7%

4 T Px—3 ' .e_»f., - - éﬁ
[f]() (Simplify ) e
— ()= implify your answer. ]
g 4—
\&d /’”“ ~ X —

f
What is the domain of —7? Select the correct choice below and, if necessary, fill in the answer box to comiplete’y your chouce
Fersa 1o
)Qa) C(3() N

A. The domain is {x { sj'
(Use integers or fractions for any numbers in th sion. Use a comma to separate

answers as needed.) “?‘") ) (Z) 2 6 —1’ X

B. The domain is {x| x is any real number} =— - /
)= 31
L_l

B. The domain is {x| x is any real number}.

3

(e) Find (f+ g)(2).
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(f+9)(2)= (Type an integer or a simplified fraction.) %f‘/f){) T =S Xr
(f) Find (f- g)(4). 6& —-‘9)(?) z -3¢ ) -~/
f-g)4)= (Type an integer or a simplified fraction.) (/__j)('(/ ) = = Z Ff’/ /

(f-9)(3)=

a) Find (1+9)3). ¥ f/—y‘ )/C,) - ...,/ N O

] f
(h) Find ( ) ] (1).

f
{E] M= (Type an integer or a simplified fra/van )

= 2 5//)% %)( t¥iX—2¢
(/ 5// ) = KU Ay )2
/2) THY3N3) TN 2y

Answers 13x+5 ;d(]/ 7) + ?C‘(Z/ 2 <

e B S

3o0f34

B. The domain is {x| X is any real number}.
- 3x+ 11 /(Z) = O +/7{7 l ~ T

?)@) - 507*24/

749/(3/ 743

B. The domain is {x| x is any real number}. (

\‘\

40x° + 49x - 24

B. The domain is {x[ x is any real nu

5x+8 —

8x-3 — =
| _ $xr 8

A. The domain is {x| x#— ),// - & f){/«' 2

(Use integers or fractions for any numbers in the expresswn Use a comma to separate answers as needed.)

31 () +8
4_813 /é)//) 2()—3

s Ero= 5

/3 e

i —
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V/4 For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
(77
fetl -+ 5C) =

) (7 X
(f+a)(x)= (Simplify your answer.) (/( (? (

Tt =
What is the domain of f+ g? Select the correct choice below and if necessary, fill m the answ? to comp1§ie your

C X/ =

fx)=x-7; g(x)= 75

(a) Find (f+ g)(x).

() A. The domain is {x }
(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed.) (,,L £ .-
1 B. The domain is {x| x is any real number}. : g %
{ I y } ] [_’}n ) - . \:\) A ;i’l”i(’l ",
«(b) Find (- 9)(0. ( Xf =) ) = 7 v
. - 87
f-9)(x) = (Simplify your answer.) 7 Yo ' "—/xf e = 6 / },

What is the domain of f— g? Select the correct ch0|ce below -and, if necessary, filLin.the answer box to comp1ete your

choice. 7)( 74,/(’,,7 — U'/ 7z

7 A. The domain is {x }
(Use integers or fractions for any numbers in the expr /s.s;on Usea comma to separate

answers as needed.) o / ,(.
o , / - X &
B. The domain is {x[ X is any real number}. ) N \(
A/ c’ ~ o .
(©) Find (F+ g)(x). '7 5 QA7 —

o). S
(fe9)x)= (Simplify your answer.) ( /( 7 ( = <_.-— MM /
What is the domain of f+ g? Select the correct choice helaw: and, if necemﬁ the answer ‘b/p to ’Shﬁlete your choice.

A. The domain is {x } Q 7/( - ??X —

(Use integers or fractions for : any numbers in the expression. Use a comma to separate
answers as needed.)

'/ B. The domain is {x| x is any real number}.

(d) Find [é](x). 71X -~ = ‘, .«. O[ k"
el . ) = ( 14, )

f . —_— /T
—|(x) = Simplify your answer. : ‘ ‘77 g WPl L
(gJ() o (simplifyy y X . { VgLt VO = s
f — =
What is the domain of —? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

» 2. P
(@7)/4 2 N -
A. The domain is {x| b
(Use integers or fractions for any numbers in the expresmon Use a comma to separate

answerses eeeded? 747//3) 7[5) g (f/ —/
B. The domain is {x| x is any real number}. _[,_{ J (g 7(2){ 2/ ,dg/r
(e) Find (f + g)(3). / . /(3) 7[5‘/ T( )/

4 of 34 #"fj {} W 6 ég‘rﬂ e {// 10/2/2019, 10:28 AM
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(F+g)(3)= (Type an integer or a simplified fraction.) (,»C 5//)(} d »—-7 }( Ztaf A 7
(0 Find (- 9)). (/ 9/ (2) = =7(2) »2)— ]
(f-9)2)= (Type an integer or a simplified fraction A‘)/ (Z/ =4 | /2)( z) +72)—7
L (@ Find (f+ 9)4). /-7/ () ==7(¥) %) =71
(f+g)(4) = (Type an integer or a simplified fractio ),/ 9/ (2 )= —2%" 2

-2l = ’_25’7*1 _
P>
f < 7 )
(EJ (3)= (Type an integer or a simplified fracti;‘ ; )/,{ 7){ g )/

2 _ a7
Answers 7 +x-7 (/ ) (<) = 7(7)” c/f(lf)/»f}

B. The domain is {x| x is any real number}. ( / ((() ?/{/)(?’//Y) —

— ¥r9(lf)
B. The domain is {x| x is any real numbgr)(#g 4 ) / 4 ) / ( 6% )
7 - 4952 )(9() (7'9,3/#——*7377

o E
(h) Find (g] (3).

— S
™

B. The domain is {x| x is any real number 7/ s 356 Y /

x=7 _) =

7x2 A —

A. The domain is {x| x#0 b x!A// -

(Use integers or fractions for any numbers i |n ression. Use a comrna to separate answers as needed.) . * —~
-

59

ID: 1.1.69 j
v 5. f(x + h) - f(x)
Find the difference quotient of f; that is, fnd— h # 0, for the following function. Be sure to simplify.
Coth) S —_
10 =32 = 2x+9 ((Kth) "Ll /fjl_qﬁl__(_)(__&»(ﬁ/ z
e A R e T A Rl S 0 et B
. 1 //' )
Answer: 2x+h -2 )(’f’ /)(A‘f//z\—/ /) @'.‘ Z(_ / i~ 9 -—')(zf-fa/» 7
iD: 1.1.83 h

A 1 2xhr ,,g{ Zh—t‘—‘7—/—z—/ -1 = t// #
. /7+ ___’_‘Z_/ = eééi“‘_’? Z/) = +h- 10/2/2019, 10:28 AM
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51/‘/6- Given f(x) = x2 - 2x + 4, find the value(s) for x such that f(x) = 12.

The solution set is { ‘} :

—

R it = [ |
. Answer: =24 g.g,z —
ID: 1.1.91

=—-7 = ‘ b
x=—b Tt —ecc C .-?'a/i””“év’f
(= O AT

}f" 2l |
| Xz 2 ‘i-f‘ A

0/2/2019, 1028 AM
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//

v~
7. Determine whether the graph is that of a function by using
the vertical-line test. If it is, use the graph to find
(a) its domain and range.
(b) the intercepts, if any.
(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?
\\'" ( l / Yes
No

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in

any answer boxes within your choice, é/ //r . (} / ;) 44 )

7O A Th&gg_main is_. (—"é’ 62 The{_ra_nge is
(Type your answers in interval notation.)

B. The graph is not a function.

What are tI'Elnfercepts’? Select the correct choice below and fill in any answer boxes within your choice.

ok K i larev e AL -

s N . ' - ) Bt &

CI#L d(} /(q) ) {C.' z.f) | 4
ype an ordered pair. Use a comma to sepadrate answers as needed.)

B. There are no intercepts.
C. The graph is not a function.

Determine if the graph is symmetrical.

A. ltis symmetrical with respect to the x-axis.
AT7B. Itis symmetricatwith respect to the y-axis. =
C. Itis symmetrical with respect to the origin.

D. The graph is not symmetrical.

E. The graph is not a function.

Answers Yes

A. The domainis (=o00,00) .Therangeis (= 00,4] .(Type your answers in interval notation.)

A. (6,0),(-6,0),(0,4) (Type an ordered pair. Use a comma to separate answers as needed.)

B. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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V/S Using the given graph of the function f, find the following. I. H

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

Aty L d
Pl )( ) L”’ \,/,—M ,,;, Y { ,I

(a) What are the intercepts?

(=1, ¢/ & (0 )
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

SQ"‘(//// / ///J,(

4 Thq’dOmam is’

(Type yc?ur answer in interval notation.)

3 # L x > /8 '_!-',;)
Thfprange-i’s ZC'{ 4}7 > {’-{)“/‘ ) / 5 (
(Type your answer in interval notation.) =

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

—— 5 .= |
A. The graph |s(ncreasmg on /—-/ ad j é _))

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

Ny P P
) A. The graph isdecreasing on =} e - -

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

-

(B <-The graph is not constant on any interval.

(d) The functionis (1)

M “heither odd nor even.
even.
odd.

8 of 34 10/2/2019, 10:28 AM
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Answers (- 1,0),(2,0),(0,1)
[-3,3]
[0,2]

A. The graph is increasing on [-1,0],[2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25

9 of 34 10/2/2019, 10:28 AM



finalm1314COC036sulllljjRZZ09B-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

\/9 The function f is defined as follows.

-x+3 ifx<1
f(x) =
3x-1 ifx=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(@) Th a“t;‘um;n of the function fis / — <~ ,l-”‘/ ((/é’/['é /'“/)/{% >

(Type your answer in interval notation.)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A, The@é;@-_t{;; is/are ((}/ 3) }/ il ¥ .

(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.
(c) Choose the correct graph below.

) D.

(d) T@e ofthe;unctlonfls [ 2 )() é/Zb\)//UM ﬁjW)

(Type your answer in interval notation.)

Answers (— 00,00)

A. The intercept(s) is/are | (0,3) l /J [{4
(Type an ordered pair. Use a comma to separate answers as needed.) [/'

oyt 2 L <
(,/«(_k.w/e-w | /ﬁ )z Xg*f IZ £ X<
 ppne = TN Baer] X

o\
N

A. )(/ML/ C/Z/ \\:\l
12,00) '\
i 22
ID: 1.4.33 / //47 /V) ffIJ )

~f%~—~ (X < NulCide
p— 1 (4> ” Q;{v

Kﬂ ==
B% _
— —— 04272019, 10:28 AM

= e —_ ha
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“’71 0. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(a) FO)=1f(x) +2 (b) G(x) =f(x + 3) (€) PO = —1(x)

1
(d) Hx)=f(x+1)-3 () Q(X) = 7 f(x) (f g(x)=f(-x)

(9) h(x) =f(29)

l,/(a) Choose the correct graph of F(x) = f(x) + 2 below:™

I/(b) Choose the correct graph of G(x) = f(x + 3) below.

o

7 A

/

{//(d} Choose the correct graph of H(x) = f(x + 1) — 3 belof- - (Ch gioz, o~
- : e -

@'G’ /e /e _“ / o= —
B __{Br Yoo D.

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

11 of 34 10/2/2019, 10:28 AM
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(f) Choose the correct graph of g(x) = f( — x) below.

O B.

12 of 34 10/2/2019, 10:28 AM
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Answers

ID: 1.5.63
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“Ar,
(a) Graph f(x) = |x + 3| -4 using transformations.
(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

(a) Graph f(x).
(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is square units.
(Simplify your answer.)

Answers

C\

) d) x’r—/nlx/'/ fe—‘\;al—

https://xlitemprod.pearsoncmg.com/api/v1/print/math

104

L B

Lo B
0
6~

A 50
C‘\'/C‘i—\ (c-f/\f/ A~

: jt/“/?"‘“

"

14 of 34
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-5 ) — / Z0

LA

/12 Find the zeros of the quadratic function using the square root method. What are the x-intercepts of the graph of the
? )& &
function (,\/,_ S’ = 7

Select the correct choice below and fill i the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) s T ~+ 3
7 A. The zeros and the x-intercepts are the same. They are /(’_ = 5 a /{ )(’__75/:
¢ The zeros and the x-intercepts are different. The zeros are . , the x-intercepts
" B. == G 5’// -3
J are ] Gt _ps —  — 7N
X—5 45 = sy Ol /(

Answer: A. The zeros and the x-intercepts are the same. They ae 82 @
' X YA o
ID: 2.3.29 Q//

! e ———
1L>13. Find the zeros, if any, of the quadratzc function usmg the quadratic formula. WhaLa;e the x-intercepts, if any, of the graph

of the function? “ﬁ( / jx, ~ Y X -——/ WX = b f(/f; é_.—L/J’L:"L
) = 8x% = 1 + 4x , Lz, - )
A< f} 2 “

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 7‘U 4 ""DL
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expressioti. Use.a comma to

separate answers as needed.) }J.-f”ﬁ,»/yr?z) 4 } /7 / / ” \

(1 A. The zeros and the x-intercepts are the same. They are : 3 ' (?L /
. The zeros and the x-intercepts are different. The zeros are , the x-/tercepts Z o
( \) B. -~
are e 5 /17
(=13 < G 2l
i1 €. There is no real zero solution and no x-intercept. ' 7 76 /
N C& 57

-1+ [ -1- [ \ ._:/_ ;

Answer: A. The zeros and the x-intercepts are the samt_e Th_ey are 2 o S _— T

/’”‘(j’)ﬂ/(i’) “?’/ZL/'-—X» Sl +1V7 )

ID: 2.3.47 3(5 / 554 )

X = #H/ // 6(;# 3 4 S

Vs ¥ il

7%
= +p//éf) “ Y(W/ = /1T

)/-*-‘f"“h//ﬂ/‘/ LA

e ————

'fj:‘f_(fi’
d /6

15'f34 e — —— 10/2/2019, 10:28 AM
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—
L/1/4 Find t@s @cﬂon )M1at are the x- mtercepts of the graph of the function?
g(x)=x+34x =10 : '

Select the correct choice below and fill in the answer box to complete your choice.
() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

) B.
- are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as heeded.)

Answer: A, The zeros and the x-intercepts are the same. They are | 4

IX) = X * U O
A N 3Yx /0 = C
/(’*/o =3(/x Vfw%} e
(X,/ /oy 63 (/) 5<.~Jc~mc’ %H Srde s
(X~ () £507) ) Favz |
IR S DI 7

)("l 2oX 7= 9@ RT

/(2-"2:.1 x #/00 = G(X
)\/ 2 —ly X 7OV < 7 X
X € — 2ad o0 — 7 X

—

>( )\CX’/’/UJ;
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@f

/ through (c).

For the quadratic function f(x) = x +2x - 8, answer parts (a) 26

(a) Graph the quadratic function by determining whether its :2—-
graph opens up or down and by finding its vertex, axis of i
symmetry, y-intercept, and x-intercepts, if any. Gy

Does the graph of f open up or down? ;_

down 20 18 12 B 4 ] 4 8 12 16 20
up
What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any 16
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as \
needed.) \

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)
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(Type an integer or a decimal. Use a comma to separate answers as needed.)

Answers up
(-1.-9)
x=-1
A. The x-intercept(s) is/are -4,2
A. The y-intercept is -8
AV

204

(= o0,00)
[-9.00)
[-1,)

ID: 2.4.37

2_/57) )( In X:P C¢/C.—v/(k”[‘J/ .

(C})_g) l7r!'1{*"‘""'}’ Y

————

-.(Type an integer or a decimal.)

(Cfrex

, -
TN
51" pPh) N

19 of 34
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16.

v’ Forthe quadratic function f(x) = - 2x% + 2x - 2, answer parts

20 of 34

(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of fis
(Type an ordered pair.)

The axis of symmetry is A
(Type an equation. Simplify your answer.)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

{0 B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

() B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is .
(Type your answer in interval notation.)

The range of fis .
(Type your answer in interval notation.)

{c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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(1) ) down.
) up.

Answers (1) down.

x=7 e

A. The y-intercept is -2 .(Type an integer or a decimal.) r ,L /(/ 2(
- LK

B. There is no x-intercept. / 6[ / -

ID: 2.4.43 A )/"JL)Z - /0 ~N
.,/ / )
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e - ‘\
L//{ 7. Determm@out graphlng,,whether the given quadratic functson has éax/lm:m value or a minimum value and then find

L Seace  Fiyh 15 N€5F eiph gpra s S S5 Nes
f(x)= - 3x? +24x-'4 y {/ﬂ""‘b( - (f~£3 -—,,.'g ]\ (ﬂ'/d__( )
A==3 ? C 2=y <ul "‘1/ 2< = e
Does the qda atic fur?ctlon f have a minimum value or a maximum value?

() The function f has a maximum value. Varlae - ( _{ﬂif / ( ﬁz’y‘ )

¢ f 3
{ ) The function f has'a minimum value. V ﬁ( 3 ‘)

ks 7 on
What is this minimum or maximum value? / & t—i : / (
Vi ly
(Simplify swer.) e ( ‘? ;/(4
implify your answer, —
Py LA’/Z//( ( W}(C()L“—f"z Y/é"/]"d(‘{. -
Answers The function f ha ‘; ammum vaiue )/ ) 2 (‘r ) v )
27 L— -l ( /4% L4 = ,
44 j _
- (%, 3e) v/,c-/-- i //
ID: 2.4.59 V{,,[“, 'r(c// . t{'cz( 1— '-fs / J

—

.//é Use the(tatlonal ze;z&t.gorem to fi

) sp 3P adee Y ¢

all the i:3al zeros of the polynomial function. Use the zeros to factor T over the real ==
f(x) —lx +7x% —49x-55 -+

>_L'_L) | 7 =Y 9 —5 )1‘* /ﬂ)).&;é({ -
—f "'C ﬁi‘v‘-\ 'J,-ij-'/,_" "{Q

: -5 p Fr st |
~..Find the real zeros of f, Select: the correct choice tz?low and,qinecessary. fill in the answer box to complete your answer.

\455 unﬂr Fo A\ vy ) _ 7§, 201, 1§, 11
s G R A Y/ 17

' /(Sarnplify your answer. Type an exact answer, using radicals as needed. Use integers or g

T‘ V) _~~ fractions for any rational numbers lntjxpressmn Use a comma to se(jarate answersas (f §% "f/l Tr/ 4 ﬂ

\ needed.) = .S—) (/<’f'l J

qjr =
ﬂ - () B. There are no real zeros.

/ 2k /> G o Xtz o

Use the real zeros to factor f. // / ( ~ (— ( /
T ~ N\ ( ~/ =

f(x) = X—STs5 =0t g7 X

(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed Use integers

or fractions for any rational numbers in the exprassion.—)__—_*r:r\
- - ‘-'_-'/
Answers A. x=| -11, -1,5 -

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any

rational numbers in the expression. Use a comma to separate answers as needed.)
(x+1)(x+11)(x-5) J/{V7__,SLV"U’ \///
\
/!

=l 5,

ID: 3.2.45

R
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AN {/(“"' ‘7(4/ be -+ / &
l/ﬂ-) Solve the equation in the @Iex nu%s;;s ; ,-//gf C’fé - A Q e ¢
SN

2= 14x+65=0 o X" "(f‘f)"/_ﬂ/ﬁ‘d"; _7-(/,2?:/ ﬁ/aﬁ

il e o A
The solution set is { l» (Use a comma to separate angerg as ne efd' ) /( /%,___——-r i
Answer: 7-4i,7+4i /l/f A tC/ﬁ —2¢o - K= f/i

e L/
N asn vy e 7—4ﬂ“’,§:

_ el -7 25 -26 Frrsy
(%) 9x° - 8x° +25x - 26 : [ ~(T 26 +7 G

The complex zeros of f are B ; = 6 ' 3 @ r € -.1‘:-,(

(Simplify your answer. Type an exact answer, using radica iand i aineaded Uik integers or fractions for any numbers II‘I

_ the expresmon Useacomm to separate answers as neeged.) f/ 6:1 /% 2 f: /
a7 )')-"lj e wuu -—'7‘L"_7'_‘

. . S T

Use the complex zeros to factor f. X’{- —A )( r-f [3 - O T/
f(x) =

(Type your answer in factored form. Type an exact answer, using radicals and i as needed. Use integers or fractions for

any numbers in the expression.) o - g -—__r_L[— 17 €I\
T W6 13m0 €Y T TGD

Answers 2,3-2i{,3+21

— = ] ) g - -{4(\ )
x-2x-3+2i)x-3-2i) A= | bv'"é/ Cc/3 7’:’;;4}‘_ 2”"{‘;/’

g — \/K(F &
ID: 3.3.33 /'/f/é'*(/bz-S%C W{ D Uy 72X
_//M

U= = 3- =
\ 2 {L \/:_T[G ."'1/1

- ) B ey
21 '
fo & W

plex zeros of the follc:@/(ncmtal furiction Write f in factored form. /Z’J& 47{( b g A
i

i

X< 6T/ /¢ ) |
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(/21. Find th vertical,_érizoutal. an /ﬁlique asymptotes, if any, for the following rational function.

e

R(x) =
Select the correct choice below and fill in any answer boxes within your choice.

A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

() B. There is no vertical asymptote.

Select the correct chaice below and fill in any answer boxes within your choice.

) A. The horizontal asymptote(s) is/fare y =
(Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

() A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -8 .(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y = 9 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

e

9
ID: 3.4.45 /E/ﬁ ),.- o=

/5/&7(4' /ﬁdbvr’/ g~ 7/(.
1£Q wils  frier on JM

N /mﬁ/J o Shen Fhecs ":/

AU O/J/f’/ L d)),_y////_

=

/]j//yﬁ Z’ 1V @f
/ Ly ;Z( s £ /JL(/// Zﬁy//d 7 \

St tm/ﬂ’/ 6 C/ ol /"""\\

= C
\\\ :;___:___F\& (o /“/f 45 #s f
24 0f34\ .9 - ) Of ] /
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\,/52. For f(x) = 8x + 1 and g(x) = 5x, find the following composite functions and state the domain of each.

25 of 34

(a) fog (b) gof (c) fof (d) gog

(@) fog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo g is . ¥
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{) B. The domain of f o g is all real numbers.
(b) (g o H)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domainofgofis {x | - }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(0 B. The domain of g o fis all real numbers.
(c) fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainoffofis{x| 3}
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o f is all real numbers.
(d) (gog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domainofgogis I T
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{0 B. The domain of g o g is all real numbers.

Answers 40x + 1
B. The domain of f o g is alf real numbers.
40x+5
B. The domain of g o fis all real numbers.
64x+9
B. The domain of f o f is all real numbers.
25x

B. The domain of g o g is all real numbers.

10/2/2019, 10:28 AM
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by
d
L‘_:, The function f(x) = 8x + 4 is one-to-one. Ay
 (a) Find the inverse of f and check the answer. 20-
(b) Find the domain and the range of fand f 1. i6-
(c) Graph f, f~ ! , and y = x on the same coordinate axes. I_)'.
-1 B+
(@f = ]
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) : X
. , _ P ANSr ARE F AR RRANREE HAD) RARF RAR" A" " g
(b) Find the domain of f. Select the correct choice below and, if k7E
necessary, fill in the answer box to complete your choice. ]
-8
) A. The domain is {x|x s } _12,5
. B. The domain is {x|x2 }. 1,_,'_
2 €. The domain is {x|x;»'E - } ; 38

() D. The domain is the set of all real

numbers. / . . g/ )
Find the range of f. Select the correct choice below and, if / { ,
necessary, fill in the answer box to complete your choice. j )( ’_{_ V L Pt

() A. Therange is {y|y;»'E 3. j

() C. Therangeis {nyS R «}'

() D. The range is the set of all real numbers. )("‘(/ o 5/ /t— 4

794 /(”_‘i o=y

() B. Therangeis {ylyz

V) .
Find the domain of f~ 1 . Select the correct choice below and, if ’ s i | e /
necessary, fill in the answer box to complete your choice. X - \7/ - 7 \
\
\
A. The domain is {x|x2 } ,_/ 7. \
~ i

B. The domain is {x|x=

I e
" €. The domainis {x|x# e Z)Z

D. The domain is the set of all real |
numbers. K_’_"“"i — 7
fl - g’

Find the range of f~ 1 Select the correct choice below and, if Z
necessary, fill in the answer box to complete your choice. =

A. The range is {y|y2 7 }

B. Therangeis {ylys - }

C. Therangeis {y|y¢r i - } G

D. The range is the set of all real numbers. /(
(c) Graph f, f~ ! , and y = x on the same coordinate axes. .Ll Ie /// \
the graphing tool to graph the functions. ' e ]
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x-4
8

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numpers.

D. The range is the set of all real ?) ber}.

v/ L(!u/

F
o
-

Z_/

ID: 4.2.53

w24, Solve the equation. ¢y XA 79 K \L ﬂ/;ﬂ“, ¢ 5 % /? *" ”’
ey W
wn_px —2 (A ,2 P A2\ Ao
The solution set is { . ol
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

| =6 X —t L3y _ 4
l' Answer: 18 % 3 ,2/
| ID: 4.3.73 oGy L3y =
I Gy Ry —TBy ~ T3 P

|
| —CX T Tx =235 |
*\ —C =T <= Tx —L3v TX |

| —13 f = ~2 By

290f34 | i ERE— _ “1072/2019, 10:28 AM
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L-"25. The function "'//-.f’ﬂ_'d.— -,;_ré .?l/“ ,7'1(“-:‘ ) ‘ N x\"--.m
-0.49h (’_ (_K Cv( cJ/.)f | k/i

/'-s\
can be used to find the number of milligrams D of a certai( ihat is.in a@a\txent’s blnodstrea h hours"aﬂer the drug
has been administered. How many milligrams will be preséfit a r 1 hour? After 6 hours?

D(h)=6e

After 1 hour, there will be milligrams. (Round to two decimal places as needed.)

After 6 hours, there will be milligrams. (Round to two decimal places as needed:}——

: A £75])54365 A
_.r""' Answers 3.68 ’D(I é’ € ( 0- 77/( ) ‘@/ :(7-3:6 T /%{r’u;,‘

0.32 " - . 3 72~(
V(¢) = ~0.0%5 (¢) M i
\ ID: 4.3.111 D( ) 6 < ( / ) Oﬂ »Ql fa//ﬂ/@h,(

\:.,_.—:—:——_'__—_ — —

e

" 26. Solve the equation.

- \

Zuc (%Zfr ¢
\__,_’-f"":? e

Change the given logarithmic equation to exponential form. _ k ™
g 4 — V‘(’ W/ / —
2 = X

(Type an equation. Do not simplify.) -
22221 T TXEs
The solution set is { '-} jpa—
¥ xS

(Simplify your answer. Use a comma to separate answers as needed.) ’} é o

Answers 4y 4 5= 2° 3(, —§ < Y )(’// /
27 2.7 = ¥ X ¥ B

= __'3},_'(1 3&(
o _

ID: 4.4.91-Setup & Solve

log,(4x+5)=5

L "37 _Wr|te the expression as a sum and/or difference of logarithms. Express powers as/faetors . / - /
s
I 7-x),0<x<7 CA/"“V/, 1) -
(TR0 < x C i A /ﬁ’(d(y’fﬁﬂ/d / %ﬁf)_/

In (x12 7- x) (Slmpllf;l your answer.)

RISNEED x+l|n(7 X) /%7 ///ZC// )( ) -
é //‘/ (7 ){) ) //{’W// Z(‘
ID: 4.5.47 (L] ()//l) = ‘K /7

v %(7-%) 5 k//

(A7) € Ao Mg

-10/2/2019, 10:28 AM
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X Wﬁm A
\/28 Write the expression as a sum and/or difference of logarithms. Express powers as factors. / 3

Iog{x(x”)],po ﬁ/vﬁ\/{/'f/)) A &/f (/(7‘/ /?

S —— ___‘_—-——-\__ e

Answer: log x + log (x+7) - 13Ing(x+€1) é = st

o CanE ot iond =
ID: 4251 FRePR= (\A, (AG} ~Loy(A)+ Loy B) [,

/‘:“'{\_ —

29 Solve the logarithmic equatl_c_m /? (X?(/’l/"‘f/?) = Zu ( Z)‘f‘c ( -4~ V}’/ l

log x+ log (x—48)=2
S - X (X—78/ j( 2) —f(w(—afo/ 4
Determine the equation to be solved after removing the !ogarith 0 o /g, /J 9

/u - /u'-X =& 7 X \ 641)

A = X —CF XK TR e I e
A (S (5__,/- 09 Loy (50)/4(6){ (U-+§) = ¢
Select the correct choice below and, if Qoessaw% in the answer box to complete yqur choice.
0z (K 1 2)(x=$9) | Loy()+Ces(1) = &
) A. The solution set is { }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as 6——()0 C/ JCN C/
needed.) LEl =2 X—sz2==

() B. There is no solution. )/’(’/’Z ~0o-2 OK )( ’S’U’f SO=UrsS

(x+6)"> losfd) +Evs(X+7) — Cos (//f) — //
log x(x+:l = (Simplify your answer) 3
,,[‘f*“il_ﬁ_ h__ﬂzﬂvﬁ_ +425 5\’7‘7)"_/3 Loy I 7‘@’*"

(Type an equation. Do not simplify.)

Answers x(x — 48) = 10

A. The solution set is { 50 3. C {’CKC / - e

(Simpilify your answer. Type an exact answer. Use a comma to separate answers as needed.) 017 (“/

o ID: 4.6.17-Setup & Solve N e\ = \

— e s, i T S —

r= P \
L/SO F|nd the amount that results from the given investment. QA. _ /’//,{- /(// [N‘"’ p i UJ \

C$300 invested/at 3% compounde@;rteﬂy ater a perigd of 2 years

- = o %) o397 ,03

After 2 years, the investment results in § -

(Round to the nearest cent as needed.) A 3 Ju [(/f ) /[/' = (f - QW&/ &
E-2 = Yeirs

Answer: 318.48 ﬁ }L)d ( ( o ¢ 3) 7? g /;,

ID: 4.7.7 B /]r 200 ’_F 'U/il/(
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fmalm13l ?OCOSQ&tIlHﬂRZZOQBAIfredu Alvare /-7» =/ J/ [+ /5 ) N N itemprod earsnncmg cnmfaplprnnlf ath
e Sl C AL RrmtX

at 14

. Howlong does it take for an investment t doub}m value if it is investe %jcompounded qua ly‘? Campounded
y 'y

contintiously? + |\ Y 22 - -k s-r(
At 14% compounded quarterly, the investment doubl?s in about ‘¢ years "-P-"'J-‘J / (&%
(Round to two decimal places as needed: ?_O_V_ /W (’/'-/“ e 4 2 /0U

b rw & Z ‘, ¥e

At 14% compounded continuously, the investment doubles in abou '

(Round to two demmal places as needed)‘z ((- /v e 3?2) ’ﬁ‘(e
bo(e) = 0., (1 ‘/?Q(cr/ z}: ,/v(,ﬁ’n/&/ L
Answers 5.04 ,671;((3) &G £ éw(/-r L_/‘() /%4(«71 = '/9{((// er
ass _bf2) 4/(@[ _“ﬂ,) /@A (2) = /%€ Oof

o aly O ey MY ) (
LoD 47@//6 (I )) W/Jw/f—ﬁhﬂv f— X, (%o f;‘/{)SLZ/’é/ =
\SE ,42737/ /ﬂ/ € 9R( S“cv?rf“ e
3 e~ ——— —.—-'-v-- v
32, How many years will it take for amn J;ﬂ $20 000 t ﬁé‘,gmw&%o 0007 Assume a rate of mtere@
N compounded continuously. Q? 'ﬂfi ) f 0000 - ZQ()UU C_) P U S5L -,
)WZ -I;:\nlhé e about | years for the investment to“grow to $50, 000 Y r( / /2« )} - C’(—é/&h,(a)
,_‘ﬂound .tq (o] deC|maI places as needed.) SOy o - C Lous ,f" ; £7() f’L[
L. ﬁ YZ 000 F2doess /Z}) ﬂ)
33 o5 ( / '/Zf)_’ﬂft(
c / (2 5), vcg

The tree died about years ago.
(Do not round until the frnganswar Then- mjd .to the nearest whole number.)

Answer: 2433 "/ / £ - ? ({‘ /7(/) _é—‘-r
b ( //’z_ ) S¢o°

Stou
ID: 4.8.11 7%—’/()() 5
A /T(?Z?’g“ T G /1:'('73}1 mfﬁ%
/w0y, (%) —T

Ten (hiEeE . 24326553ty T

320f34
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ﬁ Dé< ”u’,ﬁ -..4 Roachey
1‘/34 @nmblted growth\can be modeled by exponential functions other thar( t=Age f-‘or example, if an lﬁllalprulat{on’
i ) "o ches’_
Pq requires n units of time to/f rip /,,ihen' the function P(t) = P0(3) models the size of the population at time t. A@. __ )
@@Wnenuaﬂ y. Complete rt(hy;;arts a through d below.

_ ¢
_.57 ((a/)ll) the pgpulatlon triples Ir(J}jays and Abénsect ',ar&preseht initially, write an exponz@nc&o of the form R
o ' /f {

#el- ?0(3) il

P(t) = I *L_\
yy ——————————— ~ \
-—,:? @&hat will the population be in@ays?

The population in 48 days will be
9;1” to the nearest integer as needed )

/7 @ en will the population reach 560?/

The population will reach 560 in days.
(Round to one decimal place as needed) ) e

N\ B ——
-_'_’:) éd) press the model from part (a) in the fl( At)= / 22 z

P() =
(Use integers or decimals for any numbers in the expres

ion. Round to three decimal placesés needed.)

Answers ~ t A / L/ @ ) x
o Mire) - 2,03 Fed
" L) = ()
40 ¢ 0-055t p /g-—. //‘7’) - ﬁ&/)
A () ’ /’(/—?% / |

R (gg.04397- 75)

S T30 C/r
~p055¢ <

33 0f34
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L '35, Solve the system of equatlons If lh stem has no solution, say that it is inconsistent.

oY/ 9«,(-—_9/4‘/ Ly = 7L
4x -4y=4 j va*r ¢y G¥ éf_ Zy
5 = 17 -
290 +0-72 A= f//
Select the correct choice below and, if necessary, fill in any answer boxes within your O'CET_‘L’"’I’_/
—Nh J)%

(.1 A. The solution of the system is x = andy= . & o e <
(Type an integers or simplified fractions.) ‘( (’ %) — & 7 (/
2 B. There are infinitely many solutions. Using ordered pairs, the solution can be written as , ‘7/
{(X y)x= , ¥ any real number} —
(Simplify your answer. Type an expression using y as the variable as needed.) ( 1— ?7 —f¢ = q/ ’F/ L
) €. The system is inconsistent. s (/7 e ?
-~ (r‘ L] - i — 5
Answer: A. The solution of the system is x = 3 andy= 2 i —rs -
(Type an integers or simplified fizﬁuﬂs_),_ = C (:} = :i\\ //
: : l></ [ =
ID: 6.1.33 _ - o
s e —— —-__,___ R e, —— —
NL’;36 Solve the given system of equations. If the: system has no solutlon say that it is inconsistent.
(& et X e
2y +3z= 10 ' 3 (o Lo
‘N . ML é d /4 / 9’ ol
2x+ y+ z= 0 Z’/\’D & )</ \/A
=3x+2y-2z= -5 & 3
Select the correct choice below and fill in any answer boxes within your chm@//qj 3 4/— =7
) A. The solution is x = VY= ,andz= (Type
integers or simplified fractions.)
) B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= _y= . 2 any real number}.
(Simplify your answers. Type expresswns usmg Z as the variable as needed.)
_J C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xyz2)|x= .y any real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)
() D. The system is inconsistent.
Answer: A,
The solution is x = - ,andz= 3 . (Type integers or simplified
fractions.)
2% WM« /7744 //m» @)
ID:6.1.45 . _
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